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Paper I1

(EDUCATION)

1. Integrated education for disabled children
emphasizes on

(A) special emphasis on removal of
disparities.

(B) equal opportunities to children with
disabilitis in general schools and
facilitates their retention.

(C) provided economic rehabilitation of
people with disabilities.

(D) anendeavour to equip special schools
for children with disabilities with
vocational training facilities.

2. Assertion (A) : Planning involves
choosing tasks that must
be performed to attain
organisational goal.

Reason (R)  : Planning activity focuses

on attaining goal.
Codes:
(A) Both (A) and (R) are true.
(B) (A)is true, but (R) is false.
(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are false.

3. The statement “The study, design,
development, implementation support on
management of computer based information
systems, particularly Software applications &
Computer Hardware” refers to

(A) Information Technology
(B) Collaborative Technology
(C) Data Technology

(D) Artificial Intelligence

1. ST PR ARl oeras (sl feaTe (@b
TR @G Wi FE—
(A) T 73 TR S oA eI w3Pg 2 |
(B) ezl Rvyietx Sres Pt TPyl
v A G O 4G AR ARl
Zered 4 |
(C) v i SN s 23! |
(D) JeeTss alfemreez iR o= erss
et ey o ftercrs a9 |

oo

AREHAR A IRAITTE
T OGS Sy AAlfre
T =01 Teve
|

P17 (R) ¢ s O 7% SeEs
BRIl

2. RFE(A)

(I 2
(A) (A) @2 (R) TeTE 39y |
(B) (A) ey, % (R) e |
(C) (A) 2, 5% (R) 97 |
(D) (A) @R (R) Tew2 fegt |

3. ‘OO ¢ FAGEAET ArsifSfes FToia
O (I MEFE® FI, 0, e @R oF
AP GG @S (AR

(A) ©Y 2fe

(B) “rrifefefes ayfe
(C) ~Ifien elyfe

(D) Fhew g
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4. When did the National Council for Teacher
Education give a curriculum framework for the
2yearB.Ed.and 2 year M. Ed. Degree programme?

(A) 1998
(B) 1988
(C) 2009
(D) 2014

5. Match the models of Teacher Education in
List-I with description in List-11:

List-1 List-11

(a) Competency Based (i) Participants
explain academic
content by posing
and investigating
question.

(b) Behavirourist (i) Knowledge and

skills are

developed by
observation.

(c) Inquiry oriented (iii) Principle of

operant

conditioning used

for teacher

training.

(iv) Participants
become proficient
through
demonestrating
mastery.

Codes:

(@ () (o
A) Gv) G @
B) ) @O @Gv)
©) @i G (@)
D) @ (@) 3G

X4

4. 5 e Tiely #iW 3 2 92639 B.Ed.
@3} MLEd. férst sf1foa SIsien amis 2

(A) 1998
(B) 1988
(©) 2009
(D) 2014

5. e oifel gl GeTe (s e

oo @ g s ¢
©iferer-
(a) wrolfefes
(b) =H=EIT®
(C) SFPTRITETR
(I
(@ (b
(A) (v) (i)
B) ) @
(©) (i) (i)

D) @) (i)

GEaR

(i) SRelezeid oifes
T i<
AT o AR
SEPTRICT ST |

(i) 2RI T

T @ TRl R
q@ |

(iil) SIAITS SIS
Aoy R
ARFHCER S
e 27 |

(iv) “Afeseyolel
GlicaERRie
RRGRECEaGIR
V' TR ST |



6. Identify which statement from the following
is mismatched as ‘Rubrics’:

(A) A scoring guide used to evaluate the
quality of students

(B) Criteria at particular levels of
achievement and scoring strategy

(C) Used for both summative and
formative assessment

(D) Aneffective criteria for assessment of
quality teaching

7. The type of learning explained by Albert
Bandura is also known as

(A) Insightful Learning
(B) Observational Learning
(C) Sign Learning

(D) Verbal Learning

8. Match the following:

List-1 List-11
(Characteristics of (Attributes)
Scientific methods)

(a) Replicability (i) Ahypothesistobe

proven wrong

(b) Precision (i) Independent
researchers
arriving at the
same results

(c) Falsifiability (iii) Selecting most
simple
explanation

(d) Parsimony (iv) How close are

measurements of
the same item

Codes:

@ b (© (@
(A) (v) @Gi) G @)
B) Gi) Gv) @@ (i)
© Gi) Gv) (i) (@)
D) Gv) G @) @)

11-11

6. i (Rubrics)-2 (e Wl Rgfowkm
Mg (@ R =ifve @I *re a6 2

(A) Tormifiom s e SR e it
it aazs 21 |

(B) T =2oAita siramifet sreiee «a
fffe v@ e @i e fefims
o= <77z = |

(C) TfRore @3 g At I7ze
B

(D) 9191 RPReeId AR &) AT P
ez a7z 23|

7. SIETAG AR 3 e @fitew e
I T Ao 2

(A) TR iz
(B) “ACeIseras Tz
(C) 2SI e
(D) I fe
8. e vib Sifereia e ey biers e ¢
o1 el
(Reare smfed (el
[SIREAECTH
(a) afsferfercaiore! () 9= 24FaF
e 2l 4 |
(b) Tgeret (i) IR STl G
eI S
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(c) BRSS! (iii) e == i
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(d) e T N6 (iv) G TN FO6!
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(T3

@ b © @@
A) Gv) @) () @)
B) Gy Gv) (@ i)
© Gy Gv) G @)
D) Gv) G () o (3G)
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9. Which is not the principle of Total Quality
Management?

(A) Principle of continuous improvement
and self-evaluation

(B) Principle of equal distribution of profit
(C) Principle of system of ongoing process
(D) Principle of synergistic relationships

10. Whicheducational activity is most desirable
to the pragmatist?
(A) Results from the indiscrimination of
the pupil in democratic theory
(B) That is beneficial upon the future
experiences of the pupil

(C) Approximates the goals which
educational scientists have set up

(D) That characterises by spontaneous,
active, pleasurable and practical for
the pupil

11. Match the following:
List-1
(Models of inclusion)
(a) Intervention Model (i) Provides an
opportunity for the

disabled children to
develop social skills

(i1) Model based on

List-11
(Attributes)

(b) Team Teaching

Model psychomotor domain
(c) Social (i11) Transition of

Mainstreaming students with

Model disabilities into

general education

(d) Non-Academic @iv)

Special Education

Model teacher and the
Regular teacher
work together

Codes:

@ ® © @
(A) (i) @Gv) @) @
B) Gi) aGv) @) (D)
©) Gi) @Gy (@G (>Gv)
D) Gv) aGi) G @)

X-6

9. @D AT woiare TN NS 7772
(A) «RRITEF Tafs 9% SN-ETRIET e
(B) ST AN A%+ AIfS
(C) ot afead simfoors Fifs
(D) FrefEarpErs i s

10. ARSRATE 0, (@ R Ak
wfes wferee ?
(A) ol eRaER FERd SReE

T
(B) FrRdi sfes wfveer fofars
@ o
(C) i e Nio e sifds e sema
IR
(D) TR oo o, AG, ST
R R AR
11. e oifes 7io0E @ ¢
Ol Oifer-I
(opicEe e eee) (CMZPTIR)
(a) STEIS! Cwe (i) e Wl
I o]
[RECERg)
Sl 2l
ORGRCATEE R (i) T
AT
fofers srest
(c) JAITER T e (iii) SFw e
ARl PR Teel
(d) Fre-afags woee (iv) e frmss g3k
R s ez
S TR
(T
@ ® (@© (@
(A) (i) (@Gv) () @)
B) Gi) Gv) @ (D)
© Gy @Gy @ 3>4v)
(D) @Gv) @Gi) G @1



12. The policy of reservation of seats in Higher
Education and in Government employment is an
example of

(A) Sponsored Mobility
(B) Contest Mobility
(C) Cultural Mobility
(D) Geograpical Mobility

13. In Gagne’s hierarchy of learning, which
one of the following will not be included in rule
learning?

(A) Concept Learning

(B) Discrimination Learning
(C) SR Learning

(D) Problem-solving Learning

14. Which of the following Commission/
Committee was required exclusively to address
Teacher Education in India?

(A) Yashpal Committee

(B) Justice Verma Commission
(C) Chattopadhyay Commission-I
(D) Kothari Commission

15. Assertion (A) : The academic approach to
curriculum construction is
not much welcomed by
curriculum developers.

Reason (R) : The academic approach
curriculum has less scope
for practical in nature.

Codes:

(A) (A) is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

11-11

12. il G @3 Tos frerR g gl
T e @iba Srgge ?

(A) PATS aifSRieTe!
(B) 7@ sifeHeTsl
(C) icgfoss sifedierel
(D) coTesifers sifedierel

13. ‘Gagne’-93 Tusidfefes fam fmffee
@A T AfR-97 ST 7372

(A) iRl Pres

(B) TRT i<y

(C) ‘A= 2w

(D) P fefes Miee

14. 5B e e /FRI wagig s

o (o (e T oifde =i e
(A) ete Sl
(B) for=eifs st wfma
(C) BRI Bfapia-T
(D) I S

15. R3O (A) & AT 2rerelsid oAo5ars ot
RIS ST (oNTelE

o2 A |
FFI(R) ¢ AFfeors e (A ATEeE

PN o~
ERRER YiReEE IR

oifafy

1T ¢

(A) (A) 37y, &€ (R) e |
(B) (A) 2, € (R) 97 |
(C) (A) @32 (R) T&32 719y |
(D) (A) @R (R) Tew2 fegt |
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16. Match the following:
List-1 List-11
(Levels of teaching) (Organizing pedagogy)

(a) Memory level
(Herbartian Model)

(b) Understanding level(ii) Evaluative
(Morrison Model)

(c) Reflective

(1) Critical and creative
reasoning

(iii)) Concept mastery

(Bigge and Hunt)
(iv) Recall and
Recognition
Codes:
@ (b)) (o
(A) (v) i) ()
B) @) G (i)
© @Gv) @ (iid)

D) Gi) aG) @

17. Match the following:

List-1 List-11
(Types) (Attributes)
(a) Componential (i) Focuses on insight
Intelligence and the ability to

formulate new ideas

(b) Experiential (i1) Practicalintelligence

Intelligence
(c) Contextual (ii1) Naturalistic
Intelligence intelligence
(iv) Referstomeaningful
acquisition of new
infromation and
knowledge about
one’s own thinking
Codes:
@ () (o)

A) Gv) @ (D)
B) Gv) G (@)
© Gv) (@) (i)
D) Gi) @) (D)

16. sfere gt wiferma e A biers aw=e ¢

wIfer-1
(PrFees ©9)
(a) =RV ®S

CRICERL)
(b) CRESNTOF ¥
(ST Tewe)

(c) ofSTeEa va
(et @22 2%)

PIT 8

(@ (b
(A) (v) (i)
B) @@ @)
© Gv) @
(D) Gi) (i)

eIl
(oo fRre R i)

(i) TGRS 932
e e
(ii) SRS

(iti) Afesersyel wrel

(iv) 7w e ejfowm]

(©
(i)
(iii)
(iii)
()

17. ©iferl 766 et ¢

©iferer-
(2sra0ew)
(a) Cominfeies I

(b) Sfveeiee I
(c) 2P I

(PIT 8

(@ (b
@A) Gv) @
B) @Gv) (i)
© Gv) @
D) Gi) ()

el
(eIeT)
(i) STeYRd To
SI(GIETCRUER
T 4N NI
ol

(i) IR I

(i) ephoaTe Jfm
(iv) To7 ST wfspel
wifgarze @3k AfEa

ferg o T=F
fear

(©
(ii)
(1)
(iii)
(ii)



18. Symbolic interaction is the framework of
which type of Qualitative Research?

(A) Grounded theroy Research
(B) Narrative Research

(C) Phenomenological Research
(D) Case Study Research

19. Which is not the characteristic of
Poka-Yoke?

(A) Itis a mistake-proofing system.
(B) Ithelpstoproduce zero defect products.

(C) Itisacontinual improvementstrategy
towards ahigher level of performance.

(D) It helps to identify errors during the
process.

20. Assertion (A) : Tagore pleaded for
bringing the child into
direct contact with nature.

Reason (R) : Such a contact will make
the child friendly with the
real world.

Codes:

(A) (A)is true and (R) is false.
(B) Both (A) and (R) are true.
(C) (A)is false and (R) is true.
(D) Both (A) and (R) are false.

X-9

11-11

18. S NAfFa @F «AEa @derS SIEEeE
FI 2T iz
(A) AT e s
(B) Il sicaell
(C) ORI el
(D) &1 35T aicaet

19. @D (o2 @Y 7372
(A) @b G-I =S |
(B) b %oy @LIS 7ol ToAWC AR A |
(C) T% T Arwifel wea oy, @b
«3f5 (AT TaITETE 7S |
(D) &6 alfeFaia e o XAreseel AR

I
20. RFE(A) 3 apfeq ML Mex oo
SN ST Gl T
IR SN FCEH |
FIF9(R) ¢ <3 4G AL G oo
A eg T aggell
I O |
ISR

(A) (A) 3Te] @8 (R) Tt |
(B) (A) @32 (R) T&¥2 719y |
(C) (A) 2 @3k (R) 797 |
(D) (A) @R (R) Tew2 fegt |
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21. Match the following :
List-1
(a) Dysgraphia

List-11
(i) Difficulty in reading
(b) Dyspraxia (i1) Difficulty in motor
skills
(iii) Difficulty in writing
(iv) Difficulty in
Mathematics

(c) Dyscalculia
(d) Dyslexia

Codes:

@ ® © @
(A) (i) @G Gv) @)
B) @G Gi) Gv) @)
© @ G (i) Gv)
(D) i) () @) (>Gv)

22. Which of the following option is correct
with regard to macro finance?

(A) Itis a broad concept and focuses the
whole nation.

(B) Thereisnoriskatall because the main
aim is to give benefit to the economy.

(C) Ithas adirect effect on an individual.
(D) Both (A) and (B)

X-10

[ o ~ = °
21. [HETO Olef<F YOF (el 3

©lferel-I Ol
(a) feanfe (i) AT Pl
(b) fexarfer (i) AT O
ELIEK
(c) TRl (iii) forae sepfRa
(d) ot (iv) sifiice Py
IS

@ ® (@© (@@
(A) (i) G Gv) @
B) G (@) Gv) @
© O @ 3G) o aGv)
D) Gi) aG) @ 3>Gv)

22. SyiCer ey 2pTest Rk @ [y
A2

(A) @b g3l Rge dlzell @32 e Gifer
i s i w3 |

(B) & o1 (WY NS ARt anie, o
CTeRE (@I T 2

(C) af&7 T3 dors 2o IR |
(D) (A) 93¢ (B) T3




23. Match the following :

List-1 List-11
(a) Synchronous (i) e-mail & audio-video
Learning recordings
(b) Asynchronous (i1) Mobile enabled
Learning Learning
(c) Mobile Learning (iii) Practisinge-learning
& Traditional
learning
(d) Blended Learning (iv) Internet & live
streaming

Codes:

@ ® © @
(A) Gv) @) @) (i)
B) Gv) @) () (i)
© Gv) G @G @)
D) @i Gv) G @)

24. An effective curriculum development
process generally entails—

(A) Structured objectives
(B) Feedback

(C) Need-based assessment
(D) All of the above

25. Which of the following is not in the
Schulman’s basic knowledge that a teacher must
have?

(A) Content knowledge

(B) Curricular knowledge

(C) Administrative knowledge

(D) Pedagogical content knowledge

X-11

11-11
23. oiferl 7io Gt
Oifere-1 Oifer-I

(a) IPRoTS I (i) TG g% W
O3 fefoe @afee

(b) SPPRIS e (i) CReTfefes M

(c) (A% fea e (iii) 3ok ¢ @fegyere
faree

(d) o e (iv) THEED ¢ wge
KN

(T 2

@ G © @@
A) Gv) ) @ (i)
B) Gv) @@ aG) (i)
© Gv) @G G @
D) Gi) @Gv) G @)

24. 6 IR Ay aiee afe Fore
@ W 2 FE—

(A) TS Sl
(B) efsfem

(C) vifznifefes Teme
(D) THAfTE ey

25, GG T Ao @0 WEY 2ve
(e @ ZETE «ifaibe vz

(A) REraefefes e

(B) AR @l

(C) AT Tale

(D) Frafers fReeeere faasesre e

[ Please Turn Over ]



11-11

26. Identify which options are not non-verbal
categories as developed by Charles Galloway :

(i) Acceptance
(i) Implement
(iii)) Responsive
@iv) Justifying
(v) Receptive
(vi) Confusion
Codes:

(A) (i) and (iii)
(B) (ii) and (iv)
(C) (iv) and (v)
(D) (iv) and (vi)

27. Any counselling theory or practice that
incorporates and combines doctrines, findings and
techniques selected from diverse theoretical
systems is termed as

(A) Non-directive counselling
(B) Directive counselling

(C) Eclectic counselling

(D) Vocational counselling

28. Identify what kind of research approach
you would like to suggest for the following
statements:

(a) Human experience is mediated by
interpretation.

(b) Through interaction the individual
construct meaning.

(c) Interpretation is essential than
personal drives.

(d) Multiple ways of interpreting
experiences.

(A) Quantitative Approach
(B) Qualitative Approach
(C) Mixed Method Approach
(D) None of the above

X-12

26. S s FidifTe @meE S
RASIR T TGS 7, ©f *I& T3] 2

(1) azecelret

(i) <R

(i) efofemamie

(iv) RSl

(v) qIeFFrel

(vi) fa=ife

(PG 3

(A) (i) 93 (iii)

(B) (ii) 9% (iv)

(C) (iv) @R (V)

(D) (iv) @G3R (vi)

27. @I e o A ke @b [
sifes 77 (AT Wb ©g, (i G- e
I&, (A 25

(A) S-fitre siarrte
(B) fritre siarfris
(C) Fae! oRrmaie
(D) e A<t

28. TsfeTiie RYfoulr sfRtafrs siv &=
LR NN G SIS T ?
(a) W< Sfweee] [RIFDER 2191 TGZol
S I |

(b) FfEe Mgm gvew e L 5w
|

(c) IfEIe Qe SCo AT (@M
AT |

(d) STETSITIR IR Gy I C2AR
o |

(A) sifzieiore gigefe

(B) welsTs yiefe

(O WEEEEICESARSIES

(D) TR (IR
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29. Which is not the characteristic of PERT?

(A) PERT provides critical path and slack
time.

(B) PERT helps in various stages of
project management.

(C) Objective based planning for
allocation of resources in terms of
scheduling and controlling.

(D) None of the above

30. Assertion (A) : The educational aims,
contents and method of
teaching and in fact the
entire process of education
must be based on the
important aspects such as
secularism, socialism and

democracy.

Reason (R) : Educational needs of
Modern India are reflected
in the Preamble of Indian
Constitution.

Codes:

(A) Both (A) and (R) are not true.
(B) (A) is not true, but (R) is true.
(C) Both (A) and (R) are true.

(D) (A) is true, but (R) is not true.

31. Visual efficiency stands for —
(A) Based on cognitive factors
(B) Based on corrective lenses
(C) Based on assisstive technology
(D) Based on classroom management

11-11

29, @G PERT-F I8y 777
(A) PERT &3 &b A9 Q3R AN XA FCA |
(B) PERT &% 13817 Rfea @ igw
I

(C) v fadiae e fmgeers wifsaifFce 5w
RfSEres o o fefes ifawee |

(D) TR (IR

TREFIgere o7y, [Raw sl
ol ool e el
oo, ANTog YR
slefeCEd rel ey e
Tofx fofe a3 sifde zex
TP |

YT SRS M
DICGRSESRRENERIICE!
AVRAT Afowlre 2@ |

30. /731 (A)

P19 (R)

o
o

1T
(A) (A) @R (R) T2 7] 73 |
(B) (A) 3] =13, € (R) 719 |
(C) (A) @3 (R) To2 7wy |

(D) (A) 1%y, € (R) 3oy 7 |

31. yioes el Fee @abe aelfe
A2
(A) STER Somiees
(B) MHif® E@iteies
(C) Tolig 7S 2gfe o
(D) e JgAifeies

[ Please Turn Over ]




11-11

32. Which of the following statements with
regard to Cost Benefit Analysis is useful for
decision-making in Education?

(A) Cost Benefit Analysis may suggest
ways of increasing the profitability of
Education, either by increasing its
benefit or by lowering the costs.

(B) Itmay point out the need for change in
resource allocation in favour of these
types of education which can offer the
highest rates of return.

(C) Cost Benefit Analysis provides a
conceptual framework for the
examination of the costs of education
in relation to the relative earnings of
the educated manpower.

(D) All of the above

33. Four quadrant approach is related to what
kind of learning?

(A) Online Learning Platform
(B) Blended Learning

(C) Traditional Learning

(D) Distance Learning
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34. Match List-I with List-1I:

List-1 List-11
(a) David Pratt (1) Curriculumis a
planned or controlled
condition under
which students learn.

(b) West Burgand  (ii) Curriculum is the
Steimer strategies for
achieving desired
goals or ends.

(¢) Kerney and Cook (iii) Curriculum is a set
of providing learning
opportunities to
achieve the
objectives.

(d) Tyler and Taba (iv) Curriculum is an
organised set of
formal educational
and or training
intensions.

Codes:

@ O (© (d)
(A) (v) (i) (i) (1)
B) G Gi)  (iv) (1)
© @ aGv) Gy (i)
D) Gv) @) (@) (i1)

35. What are the three concepts of knowledge
proposed by Deng and Luke?

(A) Disciplinary, Practical and
Experiential

(B) Disciplinary, Procedural and
experiential

(C) Disciplinary, Factual and experiential

(D) Procedural, Metacognitive and
Experiential
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36. Match List-I with that of List-11:

List-1 List-11
(Competency based (Attributes)
Evaluation)

(a) Feedback (i) Sample of work for

assessment
(b) Competency (i1) Reliability of rating
sampling from colleagues must
be consistent and
acceptable

(c) Observation
(d) 360° Review

(iii) Multiple informants

(iv) Formative and
summative
Codes:

@ b © @@
A) Gv) @) Gy (i)
B) () aGv) (i) (i)
© G Gv) © (i)
D) Gv) @@ ) (D)

37. ‘Educational Psychology is the Science of
Education.”— Who said this?

(A) Pillsburg

(B) Skinner

(C) Peel

(D) Crow and Crow

38. The situation when scores of two variables
tend to move in opposite directions, the type of
correlation is termed as

(A) Positive Correlation
(B) Negative Correlation
(C) Rank Correlation
(D) Zero Correlation
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39. PERTrequires certain time estimates which
includes basic optimistic time (o), most likely (m)
and pessimistic time (p) for the completion of any
activity. This can be done by which formula from
the following?

(C) te=

6
6

(D) None of the above

40. Who said that “One good mother is worth a
hundred school masters”?
(A) George Herbert Palmer
(B) Thomas Alva Edison
(C) John Amos Comenius
(D) Friedrich Wilhelm August Froebel

41. Supporting parents of students with physical
health disabilities should include all of the following
teacher responses except

(A) limit the use of educational jorgon.

(B) provided very detailed medical
infromation to parents.

(C) Meet with parents prior to larger
meeting.

(D) encourage parents to find respite care
for their son and daughter.
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42. Statement-I. Policy implementation
sometimes faces problems.
Statement-11: Evaluation of policy can be
made through research and
modification of policy will
make the policy more
acceptable.
Codes:
(A) Both Statements, I and II are true and
II is the cause of 1.
(B) Only Statement-I is true.
(C) Only Statement-II is true.
(D) Both Statements, I and II are true, but
II is not the cause of L.

43. Match the following:
List-1
(Internal process)

List-11
(Instructional event)
(a) Reception (i) Providing learning

guidance
(b) Expectency (i1)) Gaining attention
(c) Semantic encoding(iii) Enhancing
retention & transfer

(d) Retrieved &
generalisation

@iv) Informing
learnners of the
objectives

Codes:

@ O (© (d)
(A) () (@v) (@) (iii)
B) (v) (i) (ii) (1)
©) @) (v) (ii) (1)
D) Gi) G (@ (iv)

44. Which of the following approaches to
curriculum objectives provide scope for meeting
self-actualization needs?

(A) Humanistic — Aesthetic approach
(B) Systems — Managerial approach

(C) Intellectual — Academic approach
(D) Behavioral — Relational approach
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45. Assertion (A) : ICT can provide dynamic
and proactive teaching and
learning environment.

: ICT is a tool which can be
used by anyone.

Reason (R)

Codes:

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

46. Which one statement from the following is
incorrect for defining portfolios?

(A) A collection of student work that can
exhibit a student’s efforts and
progress.

(B) Exhibit the outcome of student’s
performance.

(C) Multiple examples and techniques
used to assess progress.

(D) All of the above

47. Client-centred counselling hypothesizes that
man is — Arrange in order:

(i) Rational

(i1) Self-centred

(iii) Socialized

(iv) Constructive

(v) Forward moving
Codes:
(A) (i), (i1), (iii) and (iv)
(B) (), (iii), (iv) and (v)
(C) (i), (ii), (iv) and (v)
(D) (), (iii), (v) and (iv)
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48. Match the following:
List-1
(Types of variables)
(a) Intervening variable (i)

(b) Moderator variable (ii)

(c¢) Extraneous
variable

(iii)

(d) Confounding @iv)
variable
Codes:

@ b (o

(A) (i) (1) G

B) Gi) @) (1)

© @ aGi) (i)

(D) Gv) (i) (i)

49. Match the following:
List-1

List-11
(Attributes)
A variable that
changes the
relationship
between other
variables.

A variable that may
compete with the
independent
variable.

A variable that
occurs between two
other variables in a
causal chain.

An extraneous
variable that was
not controlled.

(d)
(iv)
(ii)
(iv)
()

List-11

(a) Managerial Grid (i) Reddin

(b) Tridimentional

(i1)) R.Blake & J.Mouton

Grid Model
(¢) Transactional (ii1) Fiedler
Leadership
(d) Contingency (iv) Burns
Model
Codes:
@ O (© (d)
A) () Gy G Gv)
B) Gy @@ (Gv) (i)
(©) (Gv) (i) (iD) (1
(D) (i) Gv) @) (i1)
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50. Assertion (A) : Anequitable society strive
towards providing equality
of opportunity to its people
and also excellence on the
basis of talents.

Reason (R) :These are mutually
exclusive and hence it will
not be possible to reach
both.

Codes:

(A) Both(A)and (R) are true, but(R)is not
correct explanation.

(B) Both(A)and (R) are true and (R) is the
correct explanation.

(C) (A)is false, but (R) is true.

(D) (A) is true, but (R) is not true.

51. Which statement is incorrect about social
barriers to inclusive education?

(A) Social barriers can be overcome
through social interaction among the
children.

(B) Social barriers enrich social justice.

(C) Social barriers arose due to difficulty
in friendship formation among the
children.

(D) Children face social, cognitive and
sensory difficulties.

52. Assertion (A) : Classroom instruction
should involve variety of
strategies.

: There are individual styles
among students.

Reason (R)

Codes:

(A) Both(A)and(R) are true and (R) is the
correct explanation of (A).

(B) Both(A)and (R)are true, but(R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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53. Arrange the last four phases of Dick and
Carey Model as and when they occur:

(1) Revised instruction
(i) Develop instructional material
(i11) Conduct formative evaluation
(iv) Design summative evaluation
Codes:
(A) (ii), (iii), (i) and (iv)
(B) (iii), (ii), (i) and (iv)
(©) (), (i), (iii) and (iv)
(D) (iv), (ii), (i) and (iii)

54. Which of the following has features of
scope, integreation, sequence, continuity,
articulation and balance?

(A) Types of Curriculum
(B) Curriculum Design
(C) Curriculum Model
(D) Curriculum Evaluation

55. Technical, Practical and Emancipatory are
three concepts of knowledge as given by

(A) Schulman

(B) Deng and Luke

(C) Habermas

(D) Deng, Luke and Harbermas

56. Differentiating Assessment and Evaluation

which one of the following option is incorrect?
Assessment Evaluation

(A) Assessment is Evaluation is

a process of Judgmental
collections, revewing
and using data

(B) Diagnostic Itisbased on well-

defined criteria.

(C) Formative Summative

(D) Prescriptive Suggestive
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57. Personality has been defined as:
“Personality is the dynamic organization within
the individual of those psychophysical systems
that determine his unique adjustments to the
environment.”— Who has given this definition?

(A) C.Rogers
(B) G. W. Allport
(C) Eysenck

(D) Cattell

58. The accuracy of the inferences,
interpretations or actions made on the basis of test
scores defined as

(A) Reliability

(B) Validity

(C) Objectivity

(D) None of the above

59. Which statementis not related with Leader-
Member Exchange (LMX) Theory?

(A) LMX theory focuses on determining
the type of leader-subordinate
relationships that promote effective
outcomes.

(B) LMX theory helps to determine
whether leaders and subordinates will
be able to develop high quality
relationship.

(C) LMX theoryisrootedin the belief that
followers have a little relationship
that could yeild advantage.

(D) LMX theory reflects the quality of
relationship through mutual trust,
loyalty, support and respect.

60. Which of the following aspects is common
to Pragmatism, Naturalism and Existentialism?

(A) Emphasis on an individual

(B) Emphasis on physical envrionment
(C) Emphasis on value education

(D) Emphasis on spiritual aim of education
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61. Match the following:
List-1 List-11
(Tools of guidance) (Attributes)

(a) Testing (i) Diagnosing the
abilities of students

(b) Counselling (i1) Details reflecting
particular events
related to students

(c) Follow-up (iii) Organising face to
face interaction to
solve the porblem

(d) Ancedotal record (iv) Tracking whether
students are doing
well in their
profession or not

Codes:

@ O (© (d
(A) () @) @Gv) (D)
B) @ @G (Gv) (i)
© @ ai) G o 3G4v)
D) ) aGv) G (i)

62. The first committee to be constituted after
independence by the Government of India on
Women Education was

(A) Sri Prakasa Committee

(B) Balwantrai Mehta Committee

(C) Dr. Durgabai Deshmukh Committee
(D) Dr. Radhakrishnan Commission

63. Which of the following facts is not
supported by the technical specification of
World Wide Web-2 (www-2)?

(A) Web oriented architecture and social
web

(B) Support of constructivist approach to
education

(C) Enable users to create, share,
collaborate and communicate their
work with others

(D) Based on artificial intelligence
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64. Identify from the following options which
one is mismatched with respect to Tyler’s
Traditional Curriculum Model:

(A) Whateducational purposes should the
school seek to attain?

(B) How can learning experiences be
selected?

(C) How can content matter be selected?

(D) How can the effectiveness of learning
experiences be evaluated?

65. Inquiry Oriented Model starts with
(A) Questions
(B) Expectations
(C) Commands
(D) Inspection

66. IDER system stands for
(A) Indirect and Direct Interaction
(B) Encouraging

(C) Non-verbal interaction based on
restricting

(D) All of the above

67. Which of the following tools at a guidance
centre can be used for ascertaining prospective
success in a chosen occupation?

(A) Achievement Test

(B) Interest Inventory

(C) Differential Aptitude Test
(D) Personality Inventory

68. Inwhich casesatype of sampling where the
sample proportions are made to be different from
the population proportions?

(A) Random sampling

(B) Stratified sampling

(C) Proportional stratified sampling
(D) Disproportional stratified sampling
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69. The book written by C.K. Prahalad—
(A) The Fortune at the Top of the Pyramid
(B) The Fortune at the Bottom of the
Pyramid
(C) Quality and Education: Our role

(D) Global Educational Framework and
its quality

70. Match the items of Column A with that of
Column B and select the appropriate sequence of
answers given:

Column A
(a) Gandhiji
(b) Aurobindo
(¢) Vivekananda
(d) Rabindranath

Column B
(i) Integral education
(i1)) Negative education
(ii1) Instinctive education
(iv) Naturalisticeducation

Tagore (v) Basic education
(vi) Man making
education
Codes:

(@ ) (© (@
(A) (i) (vi) (V) @
B) (i) (v) @) ()
© v @O ) (V)
O ® @) Gv)

71. The concept of ‘main-stream education’
came from
(A) Education for exceptional children.
(B) Integrated Education.
(C) Education for all.
(D) Right to Education Act.

72. Major emphasis on Women education was
given by the National Policy of Education to

(A) encourage Women to be econimically
independent.

(B) overcome poor rate of literacy among
Women.

(C) encourage Women for taking part in
social activities.

(D) None of the above
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69. IS &= 726 C.K. Prahalad-93 6412
(A) The Fortune at the Top of the Pyramid
(B) The Fortune at the Bottom of the
Pyramid
(C) Quality and Education: Our role

(D) Global Educational Framework and
its quality

70. A BT 7 B WS (o7l G2 ARGHG W5
e

TEA TE-B

(a) NRIE (i) FRfoxers Wl

(b) =™ (i) oo W

(c) Rl (iii) ZRfeETT W

(d) 3w OFF (iv) =Floaim el
(v) It fereet
(vi) SR S1ocTR TRt

T ¢

(@ G (© (@
A) (i)  (vi) (v) (@)
B) G (v) (@) ({v)
© v OH v O
O vy @O i) @)
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(A) o Mremm ey R
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(C) >[IF Gy =l
(D) Tmwia wifeelg =rizs

72. TR FERRifere 91 R Sew
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(A) e AW 26T & AKeE
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(B) TSR ey ArFeid 715 219
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73. Match the following:
List-1
(Theorists)
(a) Vygotsky

List-11
(Characteristics)
(i) Meaningful
Learning Theory
(b) Piaget (i) Operant
Conditioning

(c) Ausubel (iii) Zone of Proximity

(d) Bruner (iv) Emphasis on
Classroom Learning
(v) Intellectual

development of a
child

Codes:

@ b (o (d)

(A) (i)  (v) @) (iv)

B) (i) (Gv) (@) (i1)

© v O Gy i)

D) (i)  (v) (@) (1)

74. Match the following:
List-1
(Models of curriculum)

List-11
(Attributes)

(a) Contemporary (1) Totreatcurriculumas

Model an active process
(b) Competency (i1) Organisation and
Based Model selection of content
(c) Discipline (i11) Learner-centered
Based Model approach

(d) Activity Model (iv) Mastery of
performance and
learning outcome

Codes:

@ O (© (d)
(A) (i)  (v) (i) (1)
B) Gi) (Gv) (@) (ii)
(©) @(v) i) (i) (1)
D) @) Gy G @1v)
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73. e fefers el

©ifere-1 GEaS |
(29 (GAMEPTY2)
(a) Sz (i) =gz P
(b) fomiITer (i) e SgTes
(c) OPICIE (iii) CTR0y e
(d) == (iv) ifet B ey
(v) Toreg (qifms m
(T
@ @ (o (d
(A) (i)  (v) (@) (iv)
(B) (i) Gv) (@) (ii)
© v G G (i)
(D) (i)  (v) (i) (1)

74. RS St 4o GrTe ¢
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(NI 7T (@)
(a) ARSI eE (i) Ay 2w
Bk REIE
(b) wFelifefes Noe (i) REaaes 7120w «ag
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(c) ¥eeifeles Srea (i) et gt

(d) sfefesd Twel  (iv) T Foeet @R
AmieIa el
(T
@ @ (o (d
(A) (i)  (v) (i) (1)
(B) (i) Gv) (@) (ii)
(C) (iv) (i) (1) (1)
(D) ) @Gy @) (@v)
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75. Match the following:

List-1 List-11
(a) Disciplinary (1) Procedural
knowledge knowledge
(b) Practical (i) Phenomenological
knowledge knowledge
(c¢) Experimental (iii)) Knowledge based on
knowledge Reality
(iv) Canonical
knowledge of any
subject
Codes:
@ O (©

A) Gv) () (i)
B) ) @ (i)
© Gv) @ (i)
(D) i) G (1v)

76. ‘‘Metacapability of the learneris toregulate
and self-directed their own learning in many ways
based on their needs and the situation.”’

Indentify the conceptual model from the
following:

(A) Flander’s Interaction Model

(B) Malcom Knowles Model

(C) Dynamic Model of Learner Autonomy
(D) None of the above

77. In Howard Gardner’s Theory of
Intelligence, the ability to manipulate both the
body and objects is refered to as

(A) Logics-mathematical intelligence
(B) Bodily-kinesthetic intelligence
(C) Interpersonal intelligence

(D) Visual-Spatial intelligence
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78. A designin which two or more independent
variables at least one of which is manipulated are
simultaneously studied to determine their
indenpendent and interactive effects on the
dependent variable reflects what kind of Research
Design?

(A) Pre-test & Post-test Design
(B) Factorial Design
(C) Repeated Measures Design

(D) Experimental Group Design

79. Match the following:

List-1 List-11
(a) 14 points of Quality (i) C.K. Prahalad
Management
(b) Father of Quality (ii)) W.E. Deming
Control

(c) Core Competence
Model

(d) Total Quality (iv) W. Shewart
Management in Education
Codes:
@ () () (@
A) @ G G o (Gv)
B) Gv) @) G @)
© @) (@ Gv) (D)
D) G Gv) (@) (i)

(iii) M. Mukhopadhyay

80. Which of the follwoing statements are true
with respect to the features of new social
movements?

(I) They are the result of sustained collective
action.

(II) The organizationrequires a leader who will
structure the protests and bring the members
together.

(IIT) The participants in the movement have
shared objectives and ideologies.

Codes:

(A) (I) and (II) are true.

(B) (III) and (I) are true.

(C) I) and (III) are true.
(D) (D), I) and (III) are true.
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81. An inclusive school—

(A) Differentiate between students and
sets less challenging achievement
targets for specially abled children.

(B) Committed to learning outcomes of
all students irrespective of their
capability.

(C) Committed particularly to improve
the learning outcomes of specially
abled students.

(D) Anendeavourtoequip special schools
for children with disablities with
vocational training facilities.

82. Which of the following options are the
stages of the policy making process in chronological
order?

(A) Policy evaluation, Issue
identification and agenda setting,
Policy adoption, Policy formulation,
Policy implementation

(B) Issue identification and agenda
setting, Policy formulation, Policy
adoption, Policy implementation,
Policy evaluation

(C) Policy implementation, Policy
evaluation, Issue identification and
agenda setting, Policy formulation,
Policy adoption

(D) Policy formulation, Issue
identification and agenda setting,
Policy evaluation, Policy

implementation, Policy adoption
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83. Delivery method, Duration, Content
elements, Exercise and activities, Assessment and
Media— are related to which part of ADDIE
Framework of Instructional Design?

(A) Analyse
(B) Design
(C) Develop
(D) Implement

84. In Stufflebeam’s model of curriculum
evaluation, which of the following are having the
characteristics of formative evaluation?

(A) Content, Input, Process and Output
(B) Process and Output

(C) Input, Process and Output

(D) Content, Input and Process

85. Select the correct option:

(A) NCERT — 1995
(B) NCTE — 1964
(©) UGC — 1953
(D) SCERT — 1981
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86. The six fundamental principles of
Andragogy based on Malcom Knowles Model are
listed below. Find out which one is incorrect from
the following options:

(1) Need based learning

(2) Experience

(3) Self-concept

(4) Preparedness

(5) Self-esteem

(6) Intrinsic motivation

Codes:
A) (5
B) (3
©) (6)
(D) None of the above

87. Match the following:

List-1 List-11
(Type) (Elements)
(a) Social Intelligence (1) Articulate
linguistic
images

(b) Multiple Intelligence

(c) Emotional Intelligence (iii) Effective

(ii) Empathy

classroom
management
(iv) Crystal
intelligence
Codes:
@ () (o)

(A) (i) @) (Gv)
B) (i) @ i)
© Gv) (@) (i)
D) Gy @) 3ib)
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88. Which of the following formula may be 88. ANOVA-g ifitaeeifes oies i (@i el
used for statistical significance of ANOVA? (I 3@ LI T Q@O A ?
() F - ) oM Treament
Mg Error M Error

B) F=My, — Mg, B) F=Myg, — Mg,
My, xM; Tr, M. xM_Tr
n S T 2

© F = M ©) F= sin s

s Error MsError

(D) None of the above

89. Assertion (A) : Cost Benefit Analysis

Model was first used by
Lewin.

Reason (R) : The introducer considered
the firstlevel as unfreezing
change, under which the
need forchangeis accepted.
Codes:
(A) Both (A)and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

90. Assertion (A) : Marxists believe that

education should be
compulsory for all citizens.

Reason (R) : Education should create
full employment.

In the context of the above statements,

which of the following is correct?

Codes:

(A) (A)is true, but (R) is false.
(B) (A)is false, but (R) is true.
(C) Both (A) and (R) are false.
(D) Both (A) and (R) are true.

(D) TR (IR
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91. Identify from the following which is not a
part of the Convention as announced by United
Nations Convention on the Rights of Persons with
Disabilities (UNCRPD):

(A) Education

(B) Health

(C) Support Services
(D) Employment

92. District Primary Education Programme
(DPEP) was started in the year

(A) 1990
(B) 1986
(©) 1999
(D) 1994

93. Instagram, YouTube, Google and Facebook
are some examples of which emerging trends in e-
larning from the following options?

(A) Open Education Resources
(B) Discussion Forum

(C) Social Networking Sites
(D) Assistive Technology
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91. United Nations Convention on the Rights
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GEIGIRSESRITR (e SO EAC I IEd

(A) =t
(B) T

(C) FRTFET Al
(D) Gif=!
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T 2T 2
(A) 1990
(B) 1986
(C) 1999
(D) 1994
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94. Match the following:

List-1 List-11
(Models of Curriculum (Arrtibutes)
Evaluation)
(a) Tyler’s objective (i) Evaluation is full
centered Model subjective factor/
partner in the
educational
program

(b) Scriven’s Goal-Free (ii) Redefine and
Model restructing of
objectives

(c) Stake’s Responsive (iii) Evaluating without

Model referencing goals
(d) Kirkpatrick’s (iv) Different level of
Model evaluation systems
are incorporated
Codes:

(@ ® (© (@
(A) (i) @G @ Gv)
B) G () G 1)
© @i G Gv) @)
D) Gii) @@ G (Gv)

95. “Output is objective, observable and
measureable”— which model of Teacher Education
is having the opinion stated above?

(A) Pre-service Teacher Education
(B) In-service Teacher Education
(C) Behaviouristic Model

(D) Competency Based Model
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96. Ability to solve problems, cultivate critical
and creative resoning are the focus of which level
of teaching?

(A) Memory Level

(B) Reflective Level

(C) Understanding Level
(D) None of the above

97. Arrangethe lowerorderlevel of intelligence
to higher order level of intelligence as per
heirarchical step model of learning by Gagne:

(i) Problem solving
(i) Concept learning
(iii)) Multiple discrimination learning
(iv) Signal learning
Codes:
(A) (iv) < (iii) < (1) < (ii)
(B) (iv) < (iii) < (ii) < (i)
(©) () > (i) > (iii) > (iv)
(D) (i) < (iv) < (ii) < (1)

98. Aregressionequationis given below. From
the equation interpret how much independent
variables predict the dependent variable

Y =32-65+24 X, +-56 X,

(A) X,=24% & X, =56%
Interprets Dependent Variable.

B) X;=24% & X, =56%
Predicts Dependent Variable.

(©) X;=24% & X, =56%
Interprets Dependent Variable.

(D) None of the above
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99. What is the correct sequence of the steps of
Lewin’s Model of change?

(A) Unfreezing, Moving, Refreezing
(B) Moving, Freezing, Unfreezing
(C) Freezing, Unfreezing, Moving
(D) Freezing, Moving, Unfreezing

100. Which of the following is more generally
acceptable to modern educationists?

(A) Contribution to the welfare of the
society should be the only aim of
education.

(B) Education is bound to have several
aims since its concerns are several,
such as the individual, the society, the
family, the nation and others.

(C) There should be one aim of education
unchangeable over time and space.

(D) There is one objcetive of education,
that is the development of the inner
nature of the child.
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